SAFETY WARNINGS AND GUIDELINES

Please read this entire manual before you start installation and assembly of this
wall mount. If you have any questions or concerns, please contact your
installer.

e Upon receiving the wall mount, perform an inventory of all parts included
in the package. If anything is missing or damaged, please contact your
installer.

¢ Do not use with products that are heavier than the rated weight of this
wall mount. Doing so could cause a failure of the mount or its
attachment to the wall, result in damage to your valuable equipment

and/or personal injury.
e This wall mount is designed to mount to wood stud walls, solid concrete

walls.

e This mount must be attached in accordance with the instructions
contained in this manual. Improper installation could result in damage to
your valuable equipment and/or personal injury.

e Ensure that the surface to which the mount is attached will safely hold
the total combined weight of the display, mount, and any attached
accessories.

e Use safety gear and the proper tools when installing this mount. This
mount should only be installed by professionals.

e Use the mounting screws included in the package. DO NOT OVER
TIGHTEN the screws.

e This product contains small parts that could be a choking hazard if
swallowed. Keep away from small children.

e This product is intended for indoor use. Outdoor use could result in
failure causing damage to your valuable equipment and/or personal
injury.

Inspect the wall mount and installation at regular intervals (at least every
three months) to ensure that the installation is secure and safe to use.
Tighten screws as necessary, but DO NOT OVER TIGHTEN.

TILT Wall Mount

For Most 60°~100" Displays, UL Certified

=

]

s I e Y s R s

(S e Y e R =)

D o

::D:s::gl

o O

OOOOO00099900000000000000

OOOOOOOGOQOQOOOOOOOOOOOOO

CAUTION: DONOTEXCEED
RATED LISTED WEIGHT. SERIOUS
INJURY OR PROPERTY DAMAGE
MAY OCCUR!

) =0\ 200x200, 300x300, 400x200,
User's Manual @)=\  200x400, 600x400, 600600, m 220lbs
800x400, 800x600, 800x800, ook

PID 12987
1000x400, 1000x600, 1000x800

VeSS
4"71!4w!

LP37-810T



i
M6x14 (x4)
(m M-B
s}
M5x14 (x4) M6x30 (x4)
M-A M-C

il

M-F (x4) M-G (x8)

=g

W-B (x6)

(]

M8x30 (x4)
M-D

{

M8x50 (x4)
M-E

0

M-H (x8)

W-C (x8)

fen
(eSS~
% o gl




